
 
mwfl pRSn p`qr (gixq) 

jmwq-dsvIN 
ku`̀l AMk:80  
         smW: 3 GMtyy  
jrUrI not:-  
1. Bwg-a pRSn 1 qoN 3 q`k hn [  

 (i)   pRSn 1 iv`c 16 pRSn bhu-ivklpI au~qrW vwly 1-1 AMk vwly hn [ 

 (ii)  pRSn 2 iv`c 8 pRSn shI / glq  au~qrW vwly 1-1 AMk vwly hn [     

 (iii)  pRSn 3 iv`c 8 pRSn KwlI sQwn Brn vwly 1-1 AMk vwly hn [   

2. Bwg-A pRSn 4 qoN  11 q`k do AMk vwly hn [  

3. Bwg-e pRSn 12 qoN 16 q`k cwr AMk vwly hn [ iehnW pRSnW iv`c iksy  vI iqMn  

pRSnW iv~c AMdrUnI Cot  hY[  

4. Bwg-s pRSn 17 qoN 18 q`k Cyy AMk vwly hn[iehnW swry pRSnW iv~c AMdrUnI Cot  

hY[ 

Bwg-a 
1.hyT id`qy pRSnW iv`co shI ivklp cuxo[hryk pRSn dw 1 AMk hY :  
  (i) id`qy guxnKMf ru`K iv`c AigAwq AMk kI hovygw? 

          a)   2              b) 6                 c)   3               d) 9 

 

(ii)jykr p(x) = ax2 + bx + c ie`k do GwqI bhupd hY qW c/a dw p(x) dy isPrW nwl kI sMbMD huMdw hY? 

          a)  c/a isPrW dw GtwE hY          b)  c/a isPrW dI Bwg hY           

          c)  c/a isPrW dw joVPl hY         d)   c/a isPrW dw guxnPl hY 

(iii) id`qy ic`qr y=p(x) dy AwlyK leI isPrW dI igxqI ikMnI hovygI? 

          a)   2              b) 6                 c)   3               d) 9 

(iv) jykr smIkrxW kx – y = 2 Aqy 6x – 2y = 3 dw ie`k h`l hovy qW k dw mu`l d`so: 

           a)  k = 3               b)  k ≠ 3                 c)  k ≠ 0                d) k = 0 

(v). jykr (6,k) id`qI geI smIkrx 3x + y – 22=0 dw ie`k hI h`l hovy qW k dw mu`l d`so: 

           a)  4               b)  -4               c)   3               d) -3 

(vi) hyTW id`qIAW smIkrxW ivcoN ikhVI do GwqI smIkrx nhI hY? 
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         a)  ݔ − ଷ
௫
 =4        b) 3ݔ − ହ

௫
ݔ  (ଶ     cݔ=  + ଵ

௫
 =4          d) ݔଶ − 3 = ଶݔ4 −  ݔ4

(vii) id`qI hoeI AP:  3,1,-1,-3…… dw sWJw AMqr kI hovygw? 

           a)   2              b) -2                c)   4              d) -4 

(viii) x-Dury qy’ mOjUd iksy ibMdU dy inrdyS AMk kI hoxgy? 

         a)   (a, 0)              b) (0, a)               c)   (-a, a)               d) (a,-a) 

(ix) 9ܿ݁ݏଶܣ −  :brwbr hY ܣଶ݊ܽݐ9

         a)   1              b) 0                c)   9              d) -9 

(x) id`qI iqRBuj ABC iv`c sin  ?dw mu`l kI hovygw ܣ

        (a)  ஺஻
஺஼

           b) ஺஻
஻஼

           c)   ஻஼
஺஼

           d) ஻஼
஺஻

            

(xi)  goly dI sqHw dw KyqrPl Aqy GxPl dw Anupwq kI hovygw? 

         a)   3 : r                    b) 2 : r               c)   4 : 3         d)  1 : 3r 

(xii) hyT iliKAW iv`coN ikhVI AwikRqI c`kr dI sprS ryKw nUM drswauNdI  hY[      
 
 
                   

 

          (a)             (b)              (c)              (d)  
(xiii) ic`qr dw AiDAYn krky hyT iliKAW iv`coN shI kQn cuxo: 

 
 
 
 

 
 
 
           (a) P= A         (b) P= B           (c) P= C     (d) ienHW iv`c koeI nhIN 
(xiv) iksy gyNdbwz duAwrw 10 ikRkt mYcW ivc leIAW geIAW ivktW  hyT ilKy Anuswr hY:- 
         2     6    4    5    0    2    1    3    2     3   
         iehnW AMkiVAW dw bhulk hovygw:      
             (a)  1      (b)  2               (c) 3                 (d)   4 
 (xv) iksy AsMBv Gtnw dy vwprx dI sMBwvnw ikMnI huMdI hY ? 
      (a) ଵ

ଶ
       (b) 1     (c)  0    (d) ଵ

ଷ
 

(xvi) jykr ie`k c`kr dw pirmwp Aqy KyqrPl sMiKAwqmk rUp iv`c brwbr hY, qW aus c`kr dw 
ArD ivAws hY: 

       (a) 2 iekweIAW       (b) π iekweIAW (c)  4 iekweIAW        (d) 7 iekweIAW 
 
 2. id`qy pRSn leI shI/glq au~qr cuxoo[hryk pRSn dw 1 AMk hY : 
   (i) smIkrx y= -3 dw AwlyK iek ryKw hY jo x-Dury dy smWqr hMudI hY [                (shI/ glq) 
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  (ii) jykr smIkrx ax2 +bx +c =0 dy mUl smwn hox qW D 0 huMdw hY[                 (shI/ glq) 
  (iii)fe;/ nze rfDse bVh dk ntK gd an&3 + 4݊ j't/ sK fJ;dw 10vW pd 40 hovygw[(shI/ glq) 
  (iv) ibMdU P(3,4) dI mUl ibMdU qoN dUrI 5 iekweI hY[                                  (shI/ glq) 
   (v) iksy vI kox A dy leI ܣ݊݅ݏ = ସ

ଷ
 hovygw[                                       (shI/ glq) 

   (vi) jykr SMkU dw AwDwr qy aucweI,islMfr dy AwDwr qy aucweI dy brwbr hovy qW auhnW dy GxPlW   
        ivc Anupwq 3:1 hovygw[                                                      (shI/ glq) 
   (vii) jykr P( ܧത ), “E nhIN”dI sMBwvnw nMu drswaudW hY qW  ܲ(ܧ) +  0 hovygw[(shI/ glq)=(തܧ)ܲ
   (viii) c`kr dy AMdrUnI ibMdU qoN c`kr nUM do sprS ryKwvW iK~cIAW jw skdIAW hn[   (shI/ glq) 
  
3. KwlI sQwn Bro[hryk pRSn dw 1 AMk hY : 
(i) jdoN do smIkrnW dy AwlyK Awps ivc k`tx qW smIkrnW dw joVw …………  hovygw: 
            a) sMpwqI          b) sMgq       c) AsMgq          d) koeI nhI 
(ii)  swry vrg ……………… huMdy hn[   

          (a)  srbMgsm  (b) smrUuuup    (c) brwbr  (d) ienHW iv`c koeI nhIN  

(iii)  jykr o/yk yzv AB dk wZX fpzd{ M j? qW AM ns/ BM dk nB[gks ………hovygwL  
             a) 1L2           b) 2L1             c) 3L1             d) 1L1 
(iv)  ܿݐ݋ଶܣ + 1 =………………….. 

      (a) ݊݅ݏଶܣ              b) ܿݏ݋ଶܣ              c)   ܿ݁ݏଶܣ                            d) ܿܿ݁ݏ݋ଶܣ         

 (v) ArD ivAws R vwly c`kr dy aus ArD ivAwsI KMf dw KyqrPl …………ijsdw kox p0 hY[   

      (a) ୮0

ଵ଼଴
 ×2πR    (b) ୮0

ଵ଼଴
 × 2πR2    (c)  ୮0

ଷ଺଴
 ×2πR       (d) ୮0

଻ଶ଴
 ×2πR2     

 
 (vi) id`qy gey ic`qr iv`c iKfoxw ………… Aqy ……… dy sMXojn nwl  
      pRwpq hoieAw hY[   
        a)  SMkU Aqy golw  (b) SMkU Aqy ArD golw (c) vylx Aqy golw (d) vylx Aqy ArD golw 

(vii) inmn iv`co ………… kyNdrI pRivrqI  dw mwp nhIN hY ? 
      (a) m`Dmwn       (b) m`iDkw       (c)  bhulk        (d) ivcln sImw 
(viii)  ie`k is`ky nMU ie`k vwr auCwilAw jWdw hY[ie`k ic`q pRwpq krn dI  sMBwvnw …………hovygI[ 
       (a)  1                 (b)  2             (c) 1/2                     (d)   -1 
 

 Bwg A 
 not:hryk pRSn 2 AMk dw hY 
4.ABwj guxnKMfx ivDI duAwrw 96 Aq 404 dw HCF pqw kro[ 

5.ie`k doGwqI bhupd pqw kro, ijsdy isPrW dw joV Aqy guxnPl kRmvwr -3 Aqy 2 hY[ 

6.id`qy smIkrx joVy x + 3y = 5,   2x – 3y = 12  nMU h`l kro [  

7. id`qy ic`qr iv`c x dw mu`l pqw kro jykr DE∥BC hovy[ 

 
 

 

 

 



8. aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (4, 
qOr qy 3:1 dy Anupwq iv`c vMfdw hY[

9. jykr ܣ݊݅ݏ

 

10. id`qy ic`qr iv`c
KyqrPl pqw kro[

11. ie`k b`cy dy kol ie`k Aijhw pwsw hY ijsdy PlkW au`qy hyT ilKy A`Kr AMikq 
hn: 

 

ies pwsy nMU ie`k vwr su`itAw j

(i) A pRwpq hovy[ (

hryk pRSn 4 AMk dw hY
12. do GwqI smIkrx 

                              

id`qI smIkrx dy mUl pqw kro    

13. joVPl 

                             

10 Aqy 250 dy ivckwr 4 dy ikMny guxj hn?

14. 1.5 mI. lMbw ie`k pRyKk icmnI qoN 28.5 mI. dI dUrI qy hY[ausdI A`K nwl

 icmnI dy isKr dw aucwx kox 45

15. 6cm 
ryKwvW dy joVy dI rcnw kro[

16. ArD ivAws 4.2 
rUp iv`c FwilAw jWdw hY[ bylx dI au~cweI pqw kro[

                                

        shI imlwx kro:

SMkU dw Awieqn

vylx dw Awieqn

A 

aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (4, 
qOr qy 3:1 dy Anupwq iv`c vMfdw hY[

ܣ݊݅ݏ = ଷ
ସ
 qW

id`qy ic`qr iv`c ArD ivAws 4 sY.mI. vwly ie`k c`kr dy ArD ivAwsI KMf dw 
KyqrPl pqw kro[ 

ie`k b`cy dy kol ie`k Aijhw pwsw hY ijsdy PlkW au`qy hyT ilKy A`Kr AMikq 

ies pwsy nMU ie`k vwr su`itAw j

pRwpq hovy[ (ii) 

hryk pRSn 4 AMk dw hY
do GwqI smIkrx 

                         

id`qI smIkrx dy mUl pqw kro    

joVPl pqw kro:  34 + 32 + 30 + ….. + 10

                             

10 Aqy 250 dy ivckwr 4 dy ikMny guxj hn?

1.5 mI. lMbw ie`k pRyKk icmnI qoN 28.5 mI. dI dUrI qy hY[ausdI A`K nwl

icmnI dy isKr dw aucwx kox 45

cm ArD ivAws vwlw ie`k c`kr iK`c
ryKwvW dy joVy dI rcnw kro[

ArD ivAws 4.2 
rUp iv`c FwilAw jWdw hY[ bylx dI au~cweI pqw kro[

                                

shI imlwx kro:

SMkU dw Awieqn 

vylx dw Awieqn

B C

aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (4, 
qOr qy 3:1 dy Anupwq iv`c vMfdw hY[

qW tan ]dw mu`l pqw kro ܣ

ArD ivAws 4 sY.mI. vwly ie`k c`kr dy ArD ivAwsI KMf dw 

ie`k b`cy dy kol ie`k Aijhw pwsw hY ijsdy PlkW au`qy hyT ilKy A`Kr AMikq 

ies pwsy nMU ie`k vwr su`itAw jWdw hY iesdI kI sMBwvnw hY ik 

) D pRwpq hovy[

hryk pRSn 4 AMk dw hY 
do GwqI smIkrx 3ݔଶ − ݔ5 +

                          jW

id`qI smIkrx dy mUl pqw kro    

pqw kro:  34 + 32 + 30 + ….. + 10

                             jW 

10 Aqy 250 dy ivckwr 4 dy ikMny guxj hn?

1.5 mI. lMbw ie`k pRyKk icmnI qoN 28.5 mI. dI dUrI qy hY[ausdI A`K nwl

icmnI dy isKr dw aucwx kox 45

ivAws vwlw ie`k c`kr iK`c
ryKwvW dy joVy dI rcnw kro[ 

ArD ivAws 4.2 cm vwly DwqU dy ie`k goly nMU ipGlw ky ArD ivAws 6 
rUp iv`c FwilAw jWdw hY[ bylx dI au~cweI pqw kro[

                                jW

shI imlwx kro: 

vylx dw Awieqn 

C D 

aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (4, 
qOr qy 3:1 dy Anupwq iv`c vMfdw hY[ 

dw mu`l pqw kro[

ArD ivAws 4 sY.mI. vwly ie`k c`kr dy ArD ivAwsI KMf dw 

ie`k b`cy dy kol ie`k Aijhw pwsw hY ijsdy PlkW au`qy hyT ilKy A`Kr AMikq 

Wdw hY iesdI kI sMBwvnw hY ik 

pRwpq hovy[ 

+ 2 = 0 dy mUl, jykr sMBv hox, qW pqw kro[

jW 

id`qI smIkrx dy mUl pqw kro    ݔ + ଵ
௫
=3 

pqw kro:  34 + 32 + 30 + ….. + 10

10 Aqy 250 dy ivckwr 4 dy ikMny guxj hn? 

1.5 mI. lMbw ie`k pRyKk icmnI qoN 28.5 mI. dI dUrI qy hY[ausdI A`K nwl

icmnI dy isKr dw aucwx kox 450 hY[ icmnI dI aucweI pqw kro[

ivAws vwlw ie`k c`kr iK`co[kyNdr qoN 10

vwly DwqU dy ie`k goly nMU ipGlw ky ArD ivAws 6 
rUp iv`c FwilAw jWdw hY[ bylx dI au~cweI pqw kro[

jW 

1
3

E A 

aus ibMdU dy inrdyS AMk pqw kro jo ibMdUAW (4, -3) Aqy (8, 5) nMU joVx vwly ryKwKMf nMU AMdrUnI 

dw mu`l pqw kro[ 

ArD ivAws 4 sY.mI. vwly ie`k c`kr dy ArD ivAwsI KMf dw 

ie`k b`cy dy kol ie`k Aijhw pwsw hY ijsdy PlkW au`qy hyT ilKy A`Kr AMikq 

Wdw hY iesdI kI sMBwvnw hY ik 

Bwg- e  

dy mUl, jykr sMBv hox, qW pqw kro[

pqw kro:  34 + 32 + 30 + ….. + 10 

1.5 mI. lMbw ie`k pRyKk icmnI qoN 28.5 mI. dI dUrI qy hY[ausdI A`K nwl

hY[ icmnI dI aucweI pqw kro[

o[kyNdr qoN 10cm 

vwly DwqU dy ie`k goly nMU ipGlw ky ArD ivAws 6 
rUp iv`c FwilAw jWdw hY[ bylx dI au~cweI pqw kro[ 

 ℎݎߨ2

1
3

 ଶℎݎߨ

 

3) Aqy (8, 5) nMU joVx vwly ryKwKMf nMU AMdrUnI 

ArD ivAws 4 sY.mI. vwly ie`k c`kr dy ArD ivAwsI KMf dw 

ie`k b`cy dy kol ie`k Aijhw pwsw hY ijsdy PlkW au`qy hyT ilKy A`Kr AMikq 

Wdw hY iesdI kI sMBwvnw hY ik  

dy mUl, jykr sMBv hox, qW pqw kro[

1.5 mI. lMbw ie`k pRyKk icmnI qoN 28.5 mI. dI dUrI qy hY[ausdI A`K nwl

hY[ icmnI dI aucweI pqw kro[ 

cm  dUr siQq

vwly DwqU dy ie`k goly nMU ipGlw ky ArD ivAws 6 

3) Aqy (8, 5) nMU joVx vwly ryKwKMf nMU AMdrUnI 

ArD ivAws 4 sY.mI. vwly ie`k c`kr dy ArD ivAwsI KMf dw 

ie`k b`cy dy kol ie`k Aijhw pwsw hY ijsdy PlkW au`qy hyT ilKy A`Kr AMikq 

dy mUl, jykr sMBv hox, qW pqw kro[ 

1.5 mI. lMbw ie`k pRyKk icmnI qoN 28.5 mI. dI dUrI qy hY[ausdI A`K nwl 

dUr siQq ibMdU qoN c`kr ‘qy sprS 

vwly DwqU dy ie`k goly nMU ipGlw ky ArD ivAws 6 cm vwly ie`k bylx dy 

3) Aqy (8, 5) nMU joVx vwly ryKwKMf nMU AMdrUnI 

ArD ivAws 4 sY.mI. vwly ie`k c`kr dy ArD ivAwsI KMf dw 

qoN c`kr ‘qy sprS 

vwly ie`k bylx dy 

3) Aqy (8, 5) nMU joVx vwly ryKwKMf nMU AMdrUnI 

qoN c`kr ‘qy sprS 

vwly ie`k bylx dy 

 

  



 ArD goly dw Awieqn ݎߨଶℎ 

vylx dI vkr sqHw dw KyqrPl 2
3

 ଷݎߨ

                                       

                                         Bwg – s 

not: hryk pRSn 6 AMk dw hY 
17.is`D kro ik ie`k smkox iqRBuj iv`c krx dw vrg bwkI do BujwvW dy vrgW dy joV dy brwbr huMdw 
hY[ 

                                                  jW 

is`D kro ik bwhrI ibMdU qoN c`kr’ qy iK`cIAW geIAW sprS ryKwvW dIAW lMbweIAW brwbr huMdIAW 
hn[ 

18. iksy skUl dI dsvIN jmwq dIAW 51 lVkIAW dIAW aucweIAW dw ie`k srvyKx kIqw igAw Aqy hyT ilKy 
AMkVy pRwpq kIqy gey: 

aucweI (sm) iv`c lVkIAW dI sMiKAw 

140 qoN G`t 4 

145 qoN G`t 11 

150 qoN G`t 29 

155 qoN G`t 40 

160 qoN G`t 46 

165 qoN G`t 51 

id`qy gey AMkiVAW dI m`iDkw pqw kro[ 

       jW 

hyT id`qI swrxI 35 SihrW dI swKrqw dr (pRqISq iv`c) drswauNdI hY[m`Dmwn swKrqw dr pqw kro: 

swKrqw 
dr(% iv`c) 

45-55 55-65 65-75 75-85 85-95 

SihrW dI 
igxqI 

3 10 11 8 3 

 

 


